103 ——Including singletons ]
——Discarding singletons
3
>10° |
©
(0]
(o))
g
(]
>
<
10'F 3
100 1 1 1 h 1 1 1 1

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
Threshold

Supplemental Figure 1: Comparison of average degree as a function of threshold. When
singleton nodes (nodes of degree zero) are maintained in the network, we see the pattern in
the red line, as nodes with degree zero contribute to lowering the average degree. When
singleton nodes are discarded, we see the blue line where the average degree is inflated. In the

main text, the blue line, with singleton nodes removed, is reported.



